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21-Send me a telegram letting me know ......... I am to come or not.
2) whether 3) as 4) since
22-We got home ......... they were watching a football match on TV .
2) as 3) because 4) when

23-Why does exercise help protect you from injuries?

exercise gives better support to your joints.

2) As 3) When 4) Because
24-Last year I had a teacher using ......... methods of teaching.

2) joint 3) efficient 4) aerobic
25-Aerobic exercise helps your body work better to keep you .......... and healthy.
1) tiredness 2) fat 3) weight 4) fit

26-My manager is a very flexible man and can make everything suitable for a new use, need, and Situation
“Flexible” is the synonym of ............
1) excellent 2) adaptable 3) reliable 4) definable



27-He cannot be ............ with Shakespeare as a writer of tragedies because they are so different.

1) kept 2) mentioned 3) adapted 4) compared

28-The doctor helped him to be ........... from his suffering from loss of memory.

1) released 2) bent 3) defined 4) lost

29-My father always watches a ........... of the week’s news on Fridays.

1) passage 2) statement 3) digest 4) basis

30-There were many people for the concert in the hall,so I had to .......... my neck to see over the heads of people in a
crowd.

1) increase 2) stretch 3) move 4) protect

Cloze test

In ancient times there was not much salt. It was ... 31..... since it could preserve food. Thus salt was a ...... 32... item

of trade. New towns were often built if salt mines were ....33.... nearby. In fact the first roads made by man
connected salt mines to the large towns. One of the oldest Roman salt roads was built .....34.... the need for salt.

31-1)attended 2)invented 3)needed 4)contacted
32-1)comfortable 2)referable 3)reasonable 4)valuable
33-1)found 2)built 3)hidden 4)produced
34-1)because of 2)as 3)when 4)whether
Reading 1:

For the human baby, the period of complete dependence on his mother is longer thanit is for the young of any
animal. Even when the child is able to feed himself he must still depend on the guidance and protection of his elders
for many years to come. One might ask why this function could not be left to some Kind of organization. So that
children need more than physical attention, They must

have love as well, and This is what only the family can provide.

An unloved child will be unable to love other people as he grows up.

35-The difference between the human baby and the young of other animals is that .............
1) a human baby can feed himself.

2) animals receive only physical attention.

3) a human baby depends longer on his parents.

4) It takes longer for animals to become independent

36-According to the passage a child .............

1) needs no help at all. 2) needs his mother’s protection.

3) can never feed himself. 4) should be left alone.

37-The best word that can be used instead of “elders” is .............

1) parents 2) bosses 3)robbers 4) children
Reading 2:

Researchers suggest that there are creatures that do not know what light means at the bottom of the sea. They don’t
have either eyes or ears; they can only feel. There is no day or night for them. There are no winters, no summers, no
sun, no moon, and no stars. It is as if a child spent its life in darkness in bed, with nothing to see or hear. How
different our own life is! Sight shows us the ground beneath our feet and the heavens above us — the sun, moon, and
stars, shooting stars, lightning, and the sunset. It shows us day and night. We are able to hear voices, the sound of
the sea, and music. We feel, we taste, and we smell. How fortunate we are!

38- We discover that the sea creatures in the story .............

1) have no sense of hearing as well as sight.

2) hear the sounds of the ocean.

3) live in darkness because no light reaches the bottom.

4) do not hear the sound of sea as they have got used to it.

39-The word fortunate at the end of the paragraph is closest in meaning to .............
1) healthy 2) lucky 3) clever 4) pretty
40- in the passage a child in darkness is likened to .............

1) an animal without the sense of touch.

2) a sea creature with no seeing or hearing ability.

3) a deaf child unaffected by the environment.

4) a perfect sleeper, for there is no sound around to hear.



iS5 r5olgiiay yloj o2 IR0l

ul.o.wl:u plqd‘ ‘_on
awd (g dully (g3 & gm0 GBLYF pilyy asiwd plod e (lglyd 9+ /8 il Jou 5l diws Sy (o Slgly8 ST-F)
FF (F Y \E (Y Y£Q

S 0018 il g wislb & wl {2, VX, + V¥ ) LY V) b ool jle Bl il (ST -FY

Seamwl plas{Yoxy — Ve¥Xy — VoYX — VoYX, — 0V}

\ Ve 0 Y.
-(f —( -y —
7 Y Y Y

Q!
Clam! o 0)lgod ¢« ) W 36w -FY

Dedcn plp K ool &l ks (6 asals ¢ puiS ol KL e 00l (gidon ST (I

gl K e ools Jlxe Bl il ¢ 0uiS ol s KTy e ools (6 4o ST (0

Dgd o iS5 gS Sl ikl oy ¢ oS ABll axlg ila 00ls (5 ann 4 ST (7

Y (f Y(¥ \ (Y o)

wiwd Slglyd I, cawl B aiwd Silglyd ol é,\‘/a Plpeaiygal A sbaws Slgld glopwls loges S H0 -FF
sl yader € gaiws @ by yo s agly wil 1 DU B

e Ve (v -7 (x A Q)

S 0315 Ol ki g pud @ yguo (3] 30 Cawl yro wlp A b Cod g sl 0ols Hlro Sl sl -FO

¢ cwlplasa + 0. YbeYe —o.d" — Vo

T (Y 2 B

2 ( Sao( ~ (
¢l B Jgl o aib (puly (455 9 1o F p0 (6 Al (YU (4] ¢ conl Al Ve (glylo &5 Slglyd pe g8 Jeuar SO 40 - FF
Seaw! ,el..\S ,o)l.g‘.? & uLw.’

F(F Y Ya(y YAQ

Sl plaS 39 ol ) due b Wb 31 S JBlas a5 ] Jlos! puiS c0 SU g w2 b 1y 39losio Wl auw —FY
WY Yv Y) 2

—(f —(Y — —Q
Y\$ Y\$ s s

S gatmio Y 5l om0 5 3 5lg0 I Sawolas wilily H53L0b B g A swolicy 90 )51 -FA

P(A = B) +P(B — A) =P(4) +P(B) « P(A — B) =P(B — A)(

P(AUB) = P(A—B) + P(B) (f P(A)+P(ANB) =P(A—B) «

¢l plaS P(A' N B') Juol> wisly YP(B) = P(A) = %, 2l Jas doli 30 B 9 A ,51-F4
Y ¥ A \
- (f =(r - (Y —()
A A A A
Scasl plas P(B'|A") + P(A'|B) sy P(A) + P(B) = g siuily ;54054 51 Jiiiwo B 9 A aolioy 33 5T -0
o \ Y Y
~(f ~(¥ ~(Y -\
A o N N
olai jeb a1y ya5 G Wb 07 Gg5 09,5 51y10 axola 31,31 wuojd YO g (piigy peie (51)10 azole 31,31 wuoyo Ve —0)
Sl IS bl Ailos 07 g5 08,5 b sl cpibg) peiaz 511 358 ol a5yl Jlasio| i o0 sl

TAY /D (F YATNAAAS ATAS VARZING
Sl plas P(B'|A") Jol> P(B') = YP(A') 4, P(A'|B') = i;l -aY

¥ \ \ \
- (f — (¥ =(¥ —(

q M Y Yv




Slawlro plosil oo

Nz bl 3038 0 o (| ASCY | Jlocia | 19 510 (0 w9 1 (61 0 50 9 00, GRSl Bolal a1y (SO 5 SR (5 S 90 31 -OY

¢l
A \
; i AR v \Y \
2 & T ( Y'(
\Y q
B — (f — (Y
Y Y

A 35 Ay &S] Jlosiol ¢ amol oyl 51 05 ¥ Okl yo aimd 039)T X (6 jlows 43 31,481 duoyo Fo anol> Sy 4o —OF
fasislo 0ogll a5 S JBlas a5 ol QT Jls il y s il 0ogll (5 5lows
A YY YV YV
— —( —( —Q
Yo Y0 A A3
P1AS 1 035 1,8 ooliiul 0590 STy (2l 31 3590 10 513,10 o ;i jgub (1 o y0 Ae Jlasisl b conSTy £ —OO

Seabls wales i il o 890 ¥ L Jloss!

(v) (v) * *
o wr ()6 (¥) )
RERR S VO) @ )G o
S B () Ky 1 (40,5 oS5 (y3s 9 w3100 32 0540 99 ¢ Consl T (5 040 ¥ g 5058 5 0540 B Jollh 4 (g A 51 —OF
Cans! IS 0l 308 0 0 o2l 4SST Jlasol 0500 (50 33 (55500 (6 0 0 s - 215 0
\ 1 5 Y
- (f — (¥ -\
5 o A A
Sl 1SS« iyl 9y ASuw 90 0 il yy 5l ¥ 50 baid aSST Lol WS o i yg JU F o b 1) 45w 90 53,8 —OV
v\" v\ ¥ Y
' q A Y
P2 boro 90 A 5 duaS I urw 12 0yl B A (6 dusS j0 g 4D 9 glojio B g a5l 5 JSCh j0 —OA
§ ] oIS bl 30,8 ol o 4D 33 dusS’ 9 (3] 51 AT S 0 50 (5 Ao AT Jlosisl 49 410 0

¥ \
— —Q
VO \O

A Y
—(f —(¥
A ‘o

ol plaS P ladio ol Jloiol il 5« 5 @b 51 -04

\# VO
X ‘ \ Y Y G(y ;(\
Pa=o 2R
Y ¥ A \# Y I
—(f =¥
VO A

2o D (6 S 50 g aiilop o0 Ve € (g anaS jlgoyo ¥ o Bgamas 3l gope Yol anss 5l pj b yo -5+

ol yadizr 0 0 (2l (9992 i Jlokol 2510 50 32 oo D (5 s 31 (o




& lawlono plosil Joo

08451 0 5olghiliy Yloj ol oy
......... 20 B 0 (89 ) Oyla0 dod oz )T £ g Ao o yo —F)

po3ges A oelr ;5 55 (1995 (518 (¥ posges A oSilr ;5 pgd (1995 (T H5a> ()

P35y P olSler 50 5eT (505" (55 1,3 (F posgy P oSl 5 5lel (ga8” il jpa (¥

Sogs plaxl wilgi o " paieis Jow axlliae'” 3390 4isF sloJokus 30 Jos plas —5Y

Ll (39,9 o yg sl Cubgigy ol B (Y 9 A ey aiile i LSl slwl (A

o 9979 9 SRS i by Ay i (F o2539) Joloe 4 5L e slalel, alabid (7

é,.wsn )LCT 95.\5 ..\J,.a aQ ):h.z 4MT PY I WJ)JT &.—u."’ﬁ Al

Il 5,0 L RNAGY | 51,0 RNA
S92 5l Sk DNA(F Sl 5l b RNA (¥

............... P50 3,10 3529 35 BT gy dod ouijlw 5 ) Ui 989 oSl E. coli ys -5¥
o.\.a.aSJLtﬁ(\c )‘)ﬁu;bRNA (Y‘ &IcM)Le,o(Y (5«05)9*!) U,Juj).l (\
10,5 o0 SJ ylnl (Shpnd aile gy rgo « Sy plaS JolS Bd> -0

o0l iy Lole (F PRLSRING Loill (¥ sl el ()
2,18 3929 (r g1 S JBlasualy (a5 Wy (Jgero yob 4 b Jolw yo —FF

o7 (F YV (¥ YV(Y AQ

fuml yadizr (698 3 51 S8 iguito (ylgir (Joba 3950 Slwoj o by 4ty S By 90 58 50 & (pl Jlosol PV

AP N AN Oy
7\‘( 3 ( Y. ( feoo ¢
5855 0%y Joku 53 (3395 (BT SO ol 41 olgi g0 1) g plas -FA

ACU ¥ AUC ¢ AUG v AUU

A5 cw aigy WOe5 & by po i il (51 (59, 3l Wilsi 0 @&T Y Syee p;);.l- -#4

S9385, 510 L DNA (Y I3l b RNA QO

S5 5l L DNACT |50 b RNACY

£, 36 (3 ol 3 (DNA (53) (Suii§ soaS 5o i plas -V

ACA - ACG(f UGU - UGC (v TAC - TAG (v UuU - UUC ¢

39 s ly8 1 oy St 3 Liwlgino] pI0S (yu Wigws (ymo s <23 MRNA Jo5dg0 doz> i o) jo -V

H
GAUCAUGCUAGACUUUAUGCCAUAG )
Oemog) = o1 e (F Creg] = g (¥ g = He¥l b (F Crigaie = (s ()
Se 0 e S s el 29 J9 2,08 3929 oLl s s Jebuw ... 2 OIS OIS 30, 03 VY

el (F plos _ il (¥ el plas (¥ - ples (O

fedl (ylgi (o0 (Guai gl gl il pogige E98 Wiz KSTus (cumgigy Wiiley) Hlislw yo -VY

A (F Yo (¥ Y¥ (Y YA QN
e 30l B g 35 e RXV-PEEWERT

O3 S 89y 5l OeEign g5 iz (¥ 05 S8 69y )l eFan g8 S5 ()

OF Nz 69y )l s n g9 x (F O3 Nz 69, 5l oean g8 S (Y

Caw! Cow yo b)y’,.u&ll d)l.wd O)Lf)é C’)L:.C ,aI.AS -Yo

Syl ids ol ye (S8l sbeaise aS el glusST (g le 265 ()
.JJ)L) l) M}o@ A:..w‘ 0usS J.Jy W’f’l ‘Lg)Lo.u UJ‘ L ubyu.n (Y

gl oo S, ol ( Sz god S Fo e Jdo 4 wilo 09,90 QI)LA,H g".‘).‘ Sl (¥
WL ) otz g Sl ouiiSa 120 M}J—l (& olew ol S 5l ol ol 80 (F



Slawlro plosil oo

JUCK PRI P J 3990 (39 0D 43 L (5950 il 308 Ao I (cam g9y 50 o] Y guazo £ 95 45 ooy 3T V7
T S - aen (1

Stoon — dlgiom (F s - 4 (F

sl s 1006 L 5T 9195 K8 030 500 plas’ Y'Y

s il o] Sl s ot caslas g ()

i JBlas S Jame jo Ay 4 08 K0 0y 98 sl S plas (Y

ool 08y oz da Johs 3 ez 5 g (cmgig) Jone (T

lse Sy S5 5 S e Bk 5l STe (F

4 Coled 50 yuwl (§o9humd Wign # 13 b 9wl auigilS'es FY'+ (gl,l0 addgl M RVA J5Ug0 LadgSs 5 53,51 -V A

RO PSSV SO X S axly J5las abgs yo o35 0r95] U a7 3 Sy ui 92lS' 3 Y5+L Jm RNA
Ve (f Ve YV - (Y Y- Q)

ol aplgs doxr 5 G plaS (g0 9 sladghbw 0 -VA

0951 cubgig) 5l (semd (¥ 09551 iy, pled ()

095 Cbgig, 5l (oo (F O9r] Clgig, ples (Y

g o0 el Jgi plas (3L slo RNA glgil plos (310 ,5 505 (35 sl 3o — A+

GGT ¢ ATG GGU (v CCA

OB SA 5 lghiiy ¢loj Sy jud

EP 60)yby0 4038 plas .ol Jolio JSCo @y 0,10 cawly bas g9y o &5 3o &S (S poio &5 3o loj = e jw Hl0ges —A)

V4 §annl Cansy £ gliznd B sl 31 S o 8

odigud WIS — oddguds Wi (Y odigud WS — odiguds i ()

t\ St o&gﬁdﬁ-o&ﬁﬁ-o&sﬁaﬁ(fo&pﬁ-a&ﬁ&-a&sﬁdﬁ(v

9 gl o0 Ao Jlb iz e 4 ol e T 41 I e ol el X = (8= F)T 30 4 o &S o dlolre —AY
faB0 o0 L i )b Wy

sbgd = bes (¥ b Se— ks

s b (f B ol S yeesd — b S (Y

e b B T 51 (S 50 lus S g 08 > 50 o b & \0? S ey b silao iy 99 595 0)luilen 53 9o —AY
oudlino 095 LS jo () K0 jlkd S wow )o,.éLm.oQ.ll)fl...\.zssoMP)MMP%d%)A)MQMY%
(sl o aizy b y Job w5

VPO (F VOF (Y YAZ (Y VEAQ

S ] Caw yob 4y 35 plus —AF

Lol Sz o8 (S5, £55 B 50 S g Dyt o b bawgie GLLS ls ()

Lol Sy pp ol Al o p b bawgle LS jloy gam SO S > o (Y

WS e S 52y Sl Gilen (IS > g9 0 )3 (slaband Cee sl (T

Ll Sz o2 ol Gl o n b gl e oy (F

Jol ailigo 30 bawgio cus g Syl X =T H 1T HE 4+ ) Syg0 4 ST o Symio ol - Ko Aloleo —AD
fewlt = VS alaxd j0 Cac yw (S plp iz &5 >

\ Y
Y (f ;(Y’ T(Y ~ Q



& lawlono plosil Joo

x (el gomo 4y S plas T =1, B =+ (Jlojojl o Jlio loj— (4% ylog05 42 4 g5 b -AF
w‘om%m;‘f? o)lw(\‘ Conl omﬁ.w.)..uufy o)lw(\
Sl e Jawgie ey (F Cowl 2ol &S > cp (F

A 4
~

STl Yo T8 1 )l 4l 53 S o (] Lansgio s pas g 1+ = S > 93 il 33 (5 ke wgio by ~AY
flaml plas 4l Hgdome 1 Yo o p1 S poito QL wbl €S 5> 5O padismne b3 (59 Cull CLLS b S yxite
v (f Vo (¥ Ve (Y B()
2 . . —_ e m . e .

g;bbgf’wmc\gby),ao‘sg)\°SQM)J.AJ‘50J?\/F}1—X—&b63JY~? ol cee yuw b (S pzio —AA
?..\.15‘50
v--/¥m (f Yoem (¥ Ve em(Y 6-m()
E9 adads 51 Jloj dz ;o I i .ol Jolio S0 Gullao conly b o G5 5o g0 (S o loj = o Hloged —AR

ym ve
(‘\ /S) QO)AS‘SAMS)-‘?

a“"7;7 A Y 1)
i

: A

: /\c o >t(s) 5 (F v (r

-

F S Y Canl O gy gl s o o5 B (g ouigs 31 lisl 39 Vo Tl s pos by Wl g0 4SA (5 oigs -4
fos yno VoI 43 o (3T (6 Aliold aud o (g (gl otz 5y S o0 (3390 4 E9 i) S 50 0uigd 90 5 sl
ab A (F b s b ¥ (Y PRIER T4

alolidl § wiS g0 &8 > gz S 53 A (5831514 # T g s s b Iaisl S g0 &5y oy 15 (59 2 45 (S yxko — )
‘-’ﬁw‘@Uxf&o~\3-?..;-:-~°J5)°‘5;-*‘-0b-wsfw“rw-°°F@}Qwom‘ss)ﬁ%‘5°}‘~*3‘~.Tm/sw;wb.
A £ o v s ¥ Y5 o

o0y STy oylo) 55T i 0 VOM (5 aliold 4o 1y xilo ouiily (SL . cowl €8y Jbo o \.%uﬁpw,sl -y
TS 0595 1 Blo 4y U 0l 507 anili jadme p yio iy Ll b JBloos wiily 4wl oo

Y/0 (F o Vo (Y Ve (A

K435 o 4 0igh WS Cull Olid €S y> LY+ Ty 1 T sls a0 51 A alolé 15 B 9 A S e 93 -4
WS o0 1,8 w2 JUS po by 5ty ‘5“’4-523)°Jﬁ-"»séswhd\‘sﬁ:s"gw’ﬁMﬁsast‘JMvw-&#’@
Sl 4l wiz(ty — 1))

£ (f f Y (Y Sao()

Sl ty = \YS gty = 05 (5 alixd 98 oy o] bawgio et g it = Vo5 alaxd 15 O yxio s o Jilo JSb yo -9F

Flawl oIS o o it = VTS (g alaxd 50 S o (K0
1 YE (Y Yo

Y7 (f YA (Y

>
\\

—> t(s)



Slawlro plosil oo

Eumnl a0 Lol e S0 83 (5 05093 305 6l 435 51 S el -4

S o pedd LS ol 4 Al s e S5l ol b cwly bas a5 > a()
S oo s QLS o3l 4 Al je 50 Gy (Fn Coll QLA L (e s IS 0 (V
Al Gz v Gl 5 G o lo St yue g odgd wid g Coll QLS L oS > (Y
A Lwly o g s g DLl g ol lolo y coll olis b canl) las S > jo(F

Flaw! plas 4l j9dme 1 yio cows o &5 o OLLL (ol (oo plxil €S 3o Jgl 4l joly ol a >

Y. (f VO (¥ Ve (Y NG
Sl oo S0 plas 4 I ymio &8 p2 yloj = K0 Hloged cCawl Jilio SO0 4 (S o &S o o= Ol Hloged -4V
a
—
: " g
1
Y )
P : : t ( (
I /\
t
0
¢ t
X « X \
t t
o o

= alizd;d o chal 7 poly [+ t] (Giloj o3l 50 padiume yrumo 1 &8y 33 S yin S Lawwgio Sty ~4A
Sl plaS Gloj o3l o 30 o lawgie Glid .cawl X = + K0,

AR gt* x stV (v YT

S &1y 31 B A6 o8 Do 55 muanr (1l 03,5 OU g YU 4 9) @I by 53 9 S Ll s 55 1y (comer —44
(9= ™/gr) 135 o b g o4l b 1 ilno 42 29

v/6 m (¢ am (¥ Y/0 m (Y v/va m ()

@Vo gadsl cuc o b lojd (o) Trhaw 51 (55503 SWS 5 99 o0 Ly gl cus puw s B gL )1 51 gladgls’ —Yes
Tl plaS 90 (s el Cus yuw Sz 9 0310l M)@EVc Q4 Jol sdolS e yuw a5 glalazxd 40 .04 o0 b 3 YU Cow
Vo5, (F el sy (T Ve s, 20X ol 4 55 =)

Sl o dizr RiS o (B TS ko 33 1) yams 3l T 5 900 By REWS 1 1 gmmur —14)

Y.m (f a-m (v A+ m(y vemQ
Js'w)éﬁrﬁsnvb'x.ybw‘\e\”'%6@s‘ur~bsim®.}'wﬁj'@l5'fs‘h;‘w‘é@ﬂr‘fsé -)-Y
(g =1 T ) Gl ol o iz by 4B 1 ks e o8 41 4I5S 30

- (f Yer YO (Y 80
,@lqqlqojlaslwgém.‘sl.ngoyu'ﬁygwgwslsdmb)n.%uﬂg,héw,ull,éw,f N

(9= /1) Sl IS o JS 39 0 (g cdlins
A3l pglae b A (F f-m (¢ Y-m(Y £-mqQ



& lawlono plosil Joo

20 S ke 1. 03550 599 )b A Al VA G 50 CS sy Heb 4 TMgleds 1 gl o 210 ynno (59 (5 ke —)+F
Sl Al yio dizz 9,35 0 B alaiis 31 )b oydgl g1y a5 (gl alizxd B ] Jawgio cus puw ¢ 0,355 A alaili 3l to = - (g alax)

A
¥ Yo
VF f To
B
ol oo canly b3 5 S ;o 5 S IS S8 5> o — 100
F=xtT+ ()] P ()]0
7= (t"+ )T+ vt (f F=tT+t

Koz Sy 090 (6 4wl 90 40 0,0 sl aly Ty ol U =T — YT & yg0 a1 ST 0 60y ey (g Aolro —1+F

feaw! o
YWY (f YT VY (Y Vo0
100 Cpz il Coll o Job 50 O oo ey (g0 31081 ST canl Jilio & jgu0 & (o S5 5o (289 puno — VY

y

A ?&m‘&mﬁ‘ﬁ@iﬁ.)ﬁxij\whwﬂym

>x {f —¥

X, Xy

O 30 033 ey Sy ST caml Y = X7 HYX = Vo S yg0 4 ST H0 XOY amio 15 (5l 05 &S 4> yusnno alolro —VeA
flunl 4l o Wiy (0 (21 50 Y 950 (SLiwl ) 58 0,8 sy (552 0l Y\/W%;-z‘xx =\m

A (Y 7Y ¥ Y()

ol T = FT+ ¥t] g7y = YT + A Syg0 45 XOY (s aiuo 15 3 ST 0 B g A (slog,095 5 o alolze —1+4
$92995 oy 03Il WSS (00 3595 1 (B 41 95095 90 A (gl alax] 53 . WSS (0 S 2> £ 9,0 (lojes Hob s Lagy395
?w|? RVEY. |

VY (fF Y. (¥ Ve (Y ARG

YSplp B U'A}ld):d‘mQ..\,:.w)ol.e)’)fl.a.ulMPJb)ot_qloxlo‘sg)\'?«:«ql&"u}wlgd&&é.glho‘yo)é -\
fewwl plas B g A alaili 90y bawgsio Gl Hlo p wiily

B
?+f(r —?—f O
/ —T— /(¢ —T—Jr
OUESP P s g lguin yloj ol

el 518 Oloj s 2 Olgo CLE il (o ) Al (2 Lo JST9 G 0 -

fA[A] _ vA[B] _ —sA[C]

At At At

Sl plaS STy ouud 43190 alalro
vC(g) - fA(g) + B(g) « #C(g) — fA(g) + YB(g) O
vC(g) — YA(g) + tB(g) (f vC(g) — fA(g) + YB(g) (¢



Slawlro plosil oo

Flaw! Caw yo 4y 35 plas oyle -NY

3,05 3925 o, plosl 6l (amlio of ) Salinnge 5 a3 3l ol S oo i 1) o E589 el St a5 51 3525 (6 b (slo2ST5 ()

Axil o il wilg i gm R = K[A]™[B]™ akl, o (Y

S 50 51 B R0 U LS 5o Sley Do S 3,55 e b osias STy slaJgSIse (B9 0595 sk Billae (F

ool S5l SOy Cly a5 p0 0 S jsilgms 525 2351 50 (F

S Ayl buwgin sy 03 5 o0 plonil (6 5 Vo B L G 40 a5 CHOH(g) = CO(g) + YH(g) STy 5o ,51-11Y
o9 4 325 Jol5 yob 4 CHLOH VAY g b oS o0 Jgb aindd iz colbly /Y mol. L7 .57 pluH,

— — ¢ 9
(C—w JH=),0=)s /mol)
YIo (F VO (Y V(Y 10 ()

Sl oIS Y 5 X canl bgy o YA(g) = YB(g) + C(g) STy 4945 Jgazr apazgi b -11F

(4i35) yle
Y. \
X (Ve T"mol. L) cbale

YIs A A

X /4 B
/) y C

y=-/4 gx=\/v( y=-/1 s x=1\/s(

y=-/8 sx=-/Y(f y=\/f 4 x=-/2(

/Y g iles (BL G55 0 o 51 Jge VoY GiiSTy STl aiado ¥ culddS 51 g ool pid o daw 49 325 (ST 50 55T =110
§ ] 450 1 Jg0 9y g il oy ikl gf Lruigio Sad s 9 Jgo Moz Ol i mhaw ddgl yldiocalily o 3131 515 Jge
(oilgds oz ay Canly 31 1y roUS)

oY = /Y5 (F /Y= Ys /Y =V /Y5 WARASVALAS
s o e Jgur (glooold 4y dz i b cawl plnil Jlo 50 (g5 ¥ B8 Sy 40 YNH(g) = Ne(g) + YH(g) sy -117

¢cawlmol . L7 . min™" B b Cawly jlcad ay STy slesl G fassl 5INHy & pao SH\’(g)"""‘S‘ busgino

(S)uLa) * ‘o Yo ro fo Ao
Ny Jgo . oY ./¥ ./ Nig Nig
<[00 4+ /50 (F Y ANRVATI /XYY g - /8F0 (Y </POY 4 - /20 (A

Flam! g0 cus g gl 381 el 50 Jole plas g Cawl pilion ) wiSTg plas Cas yuw V1Y

.Mg(s)+ YHCl (aq) » MgCl,(aq) + H.(g)
«.Zn(s) + YHCl(aq) = ZnCl,(aq) + H.(g)
S e (o) (F Lo () (F nossms STy coals oT) (¥ edale (o) (A

GF S5 )Mo 9 0392 o das SO 1 i 35 plas 8+ %C 51 5V Glos 53 Ol pid iy 4 325 Wleo s azgi L -IA

23,0

An (0y) f An (Ny) An (KNOy) v An (K,0)

At At At At a



& lawlono plosil Joo

Y G,0 G 50A(g) = B(g) said 4jlgn STy (ylo 4y o il Ol ki (Sl Led 45 5 JSb 4y azgi b -1

W Cowly & e 3 iy 4 e 4l )0 B ClALS g 090 4wl 00 10 B udgi bawgio s o el o0 (5 35

0 Scawimol L7 wiy gmol . L7".s™)
\/5 (B] V/A—-/-A(Y Y—-/-FQ
V/Y i
\

VA= /% (f Y— /A
-/# y [4]
> (5) ol
Saw! Caw yob @ylee plas ¥ NH, (g) +00,(g) = TNO(g) + $H,0(g) Sy 4 a>gi b —IYe
— = A[H,0] _ —A[NH]
Rwn. = Ryo vac v O
—A[0] __A[NO] A[0y] _ A[NO]
ac VT T *oC dAt AL
alyly STy s w9 Lodids STy cdilé s <ol sbos Jo YA(g) + B(g) = YC(g) yisSTlg 4o —IYY
Cogu o0yl Wi STy S yaw (D9 il STy 8,5 x> Lod lod 10 4z Uz .cawlylyd w R = Kk[A]Y[B]"
YY (F T\ i\ wa
Sl Caw yob Cdlao plas —IYY
g el MO LL ST (T e s s (61, sl 46 2 2 e o e o 652 5 R = K[A][B]" a55 e oo 0558 51()
A dalss alil oS e s b Ll w3 )ls £485 Sl el ie 2aSTlg AH ST(Y
5) ol
ARS8 (§9) G Sy b (S Ty andl aals )3 56 SO (s osims 2aSTy SI(F
! Cow yo u.Ua.o ﬁ'.\f 949 ‘Sl.b)b’.ni & 495; b -\ry
A A
M )
>l S > Sl b iy
Lol rodums STy LSis slAH Egozno 3l yiaS oo gl 8 LSis swAH Egozma (V) 5iSTy yo ()
el i mly ossas STy (655l pdaw 5 lAS Il (65,50 mhas (V) iaSTy o (Y
el i o3 5l,8 (sl 5l Jd osezy (o)l «(1)2STy 5o (F
Lol ox.maui,:.fb Qg ngjﬂ Egoro )‘| i La:oa”l)_é Qg 63)3‘ Egome ) U'L.LS‘B 5 (f
Fy2 Todd o0 69 PS5 sy Lyl pb y0 0ul 0ls piaSTg 90 31 SO plas 1YY
DAH =+ k] Eq(casy) =t k]
VAH = —v- k] E,(czs,) =0k
el iy (V) 2STg AH (g (V) 2Ty (¥ el i (V) j2STy o cnS pEg ez (V) G2sSTy (O
ol s (V) GiaSTg j0 e, B e (V) STy (F el oo (V) LiasSTy jo e, B e (V) LasSTg (F
....... Plpowdya Lbob)s‘i)é Jesis ‘S.JL»AT Egoxo g Lodiad piiSly Juslis GJL»T E o0 (o030 S Tg SO 50 -1YD
JUd (5551 el Jgo 32 Jo5gkeS o pilp 08y Cter 50 SS9 ()l (3L Jlad (6551 el ST el Jgo 32 J95 oS v 9
Al g Jgo 3 J35pleS oy Sl e 50 o (53l

YYZ AN OO Y)Y (F VoV VY- 0F SYY (¥ AA CYYS EYY 004 (Y VoV VY. SFYY b7 ()



Slawlro plosil oo

flaw! Cawyo Oyl plas —1YF

Db oo b STy e o ol cely Lid muli8l g Lo iol38l olgen ()

bl ails (S (651 5 cenlin (655 T 0akiS )55 5 loe,d T (b a5 sl s 00 51,8 g 4y 5 Cel Fige (alSip 5,55 (F
IS e C8 iy S0U Cey b ojlgen olend slo STy i (¥

S5 T 5 35 o 550 0 45 aniins 55Ty & e A(9) + B(g) = TC(g) 5y (8

@uiBd (uSTy 90 b Clilé 45 (> o STy gl B S lo3T gl Jgu g STy Alolee 4 4z gi b -IYY
Sl plas wisly /-0 mol. L™

A(g) + B(g) = ¥C(g)

STy s pan (Mol L™") sazas Sty il o
(mol.L™".s™") [A] [B] oielesl o lass
ox 7" A " |
Yy X\ 1 At Y
ox " Al -1 Y
Y/YO X V-7 (F Y/YO X VT (Y V/YO X VT (Y V/Yax V-

feuwnl plas’ cawyob 4y 35 @ yle -IVA

WS oo (o 1959 S Lo Gl T b ST A8 Sl 9 5593 5 4 L5 50 e ()

el o5 ,F oo 5 Laoo gl 8 5 5 baonins 28T 51 Jled sagamy JuSis (¥

15 Glotng el gl b (g5, A5 cllo ag ks wiile 5 5 5 4y s 4o (Y

a8 0555 €O J5SUse 55 25 @l 4 0 w31 5INO; (9) Jssdse 2L NO: (g) + CO(g) = NO.(g) + CO:(g) 51y 5o (F
G351 bl Jgo p2 Jaighes Yoo plp ColiS 1 g <) g3l led (5551 ggozmec A = YB + A K (JaSTg 50 51974
fewl Jgo 2 Jojshs Wiz &8, (Sly g5l lad

WY (f Ve Ver (Y Ve ()

4 Caly 3 oy 4 Jlad ovazen Joo SO JuSid Il 4 Hy(g) + 11 (9) = YHI(g) 355 (iSly 4 4z g5 b -1Y-
! (o S Jl> 50 Mgy Jgo Wz 9 S Jbo 50 Wigm Jgo o o

Yo (F Vv (Y Vo) (Y YoY ()



	عمومی تجربی
	1تجربی



